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Source: IPCC SR15 Figure SPM.1; NASA blue marble; Dr Joeri Rogelj

Energy from 
the sun

Greenhouse gases: 
Carbon dioxide, methane, 
nitrous oxide, …

We understand and can attribute global 
warming to human activities

Adding greenhouse gases
traps more energy and 
heats the planet



Moments of change1.5oC versus 2.0oC

Source: https://showyourstripes.info/

Source: UK Met Office



Rapid global decarbonisation required

steeply

to 
zero Source: IPCC Special Report on 

Global Warming of 1.5°C 

“Limiting warming to 1.5°C is possible within 
the laws of chemistry and physics but doing 
so would require unprecedented changes,” 
said Jim Skea, Co-Chair of IPCC Working 
Group III.



Climate 
change is 
seen as a 
major threat

Source – Pew Research Centre:
https://www.pewresearch.org/fact-tank/2020/10/16/many-globally-are-as-concerned-about-
climate-change-as-about-the-spread-of-infectious-diseases/

https://www.pewresearch.org/fact-tank/2020/10/16/many-globally-are-as-concerned-about-climate-change-as-about-the-spread-of-infectious-diseases/


UK Climate Change Act

“It is the duty of the Secretary of 
State to ensure that the net UK 
carbon account for the year 
2050 is at least 100% lower 
than the 1990 baseline.”



Net-zero means THIS and THIS…



Net-zero means THIS and THIS…



Energy and global 
greenhouse gas 
emissions

Source – Our World in data:
https://ourworldindata.org/emissions-by-sector

https://ourworldindata.org/emissions-by-sector
https://ourworldindata.org/emissions-by-sector


Source – Visual Capitalist:
https://www.visualcapitalist.com/largest-50-companies-revenue-2016/

Energy in 
the rich list



https://www.theccc.org.uk/publication/net-zero-the-uks-
contribution-to-stopping-global-warming/

https://www.theccc.org.uk/publication/net-zero-the-uks-contribution-to-stopping-global-warming/


The energy bit is relatively 
straightforward…

~3.6 (6.1*) GW/year
(300 x 12MW turbines/year)

(current 4GW/year)

~1.2 million BEVs/year
(136 per hour)

(current 331 vehicles/hour)

~600k installations/year
(68 per hour)

(current 182 boilers/hour)

Energy = around 67% of 
current home greenhouse 
gas emissions



Technology alone doesn’t achieve carbon targets



And folks might need some help…
…

Complicated time of 
use pricing

Different kit Upfront costs


